PART No. DESCRIPTION ALL DIMENSIONS IN MILLIMETRES UNLESS OTHERWISE STATED. IF IN DOUBT - ASK. DO NOT SCALE.
7490962 CUTTERBAR RH
AR%‘ELE NU'\;I'IEE%% DE DESCRIPTION QTE AR%"C'LE NU"F’,'E%% DE DESCRIPTION QTE

1 41.072.04 CUTTER BAR ASSY RH 1 35 0100205 1/2" SPRING WASHER 2

2 41266.01 CRANKSHAFT W/ASSY 1 36 9313035 SETSCREW M10x16 4

. 5600073 AL BEARING . 37 0401230 30 DIA EXT CIRCLIP 2

" 5113008 v PLAN HEX NOT . 38 0406247 47 DIA EXT CIRCLIP 1

5 41263.01 ROCKER ARM W/ASSY 1 39 9353075 M10x35 SKT CSK CAPSCREW 3

6 0600102 BEARING HK2030 4 40 0411272 72 DIA. INT CIRCLIP

7 8629212 SEALING RING 4 41 0406235 35 DIA EXT CIRCLIP

. 27501 THRUST ngzs()ﬁiz_NYLON_ . 42 9343104 CAPSCREW M8X50

9 4124201 SLEEVE 2

10 41262.01 CONTROL LINK - C/BAR 2

11 9213286 M12 X 140 HEX HD BOLT 2

12 0428120 SPRING DOWEL 10 X 20LG 2

13 9363054 M8x25 GRUB SCREW 1

14 9343105 M10x50 SKT CAPSCREW 1

15 9143005 M10 CLEVELOK NUT 4

16 41336.05 MOTOR ASSY RH 1

17 9143006 M12 CLEVELOK NUT 2

18 41264.02 DRIVE COVER RH W/ASSY 1

19 1090037 RETAINING WASHER 1

20 41261.03 MTG BRKT SWINGTRIM RH 1

21 4107502 CONROD ASSY - RH 1

22 21933.31 SHAFT SPACER 1

23 21933.32 JOINT RING 1

24 21933.33 MOTOR MTG PLATE 1

25 0341125 1/2" UNF SKT CAP SCREW 2

26 1090058 SWIVEL 1

27 1290078 SAFETY DECAL - FINGERS 1

28 9100205 SPRING WASHER M10 4

29 0901125 GREASE NIPPLE 1/8in BSP 454 1

30 0901121 GREASE NIPPLE 1/8in BSP Str. 1

31 0100109 7/16in PLAIN WASHER 1

32 9501406 M5 x 40 SPLIT PIN 1

33 9143004 SELF-LOCKING NUT M8 4

34 9243094 CAPSCREW M8X50 4

MASS : 39.95kg

KIT TO FIT SWING TRIM

3rd ANGLE
PROJECTION.

S|

WELD QUALITY TO BS.5289

\ ALAMO GROUP EUROPE

saocroup PO BOX 18 EVESHAM WR11 5SW

SHEET SCALE:

1:1

THIS DRAWING IS THE PROPERTY OF ALAMO GROUP INC. AND
IS LOANED WITH THE SPECIFIC AGREEMENT THAT ITS USE
WILL BE ONLY IN THE COMPANY'S BEST INTEREST AND THAT
IT WILL BE RETURNED ON DEMAND. ALL RIGHTS, TITLES

AND INTEREST IN ANY DISCLOSURE HEREON REMAIN THE
PROPERTY OF ALAMO GROUP INC..

MODELLED:| kperks

23-02-06

DETAILED: | kperks

23-02-06

@ SHEET No:

1 OF1

DRAWING No.

FINISH:- NATURAL
UNSPECIFIED TOLERANCES :-
DIMENSION: =0r<2000 >2000
g%oCrlanAL DIMENSIONS +-0.25 AS STATED
B |16448!0RE ISSUE WITH COMPLETE CUTTERBAR baVI 88/ 2008 SISO
A |16448/02REDRAWN WITH ALL PARTS bavroms@g/2008 0 ANDWHOLEmm | 10 20
REV: ECN: REVISIONS: NAME: DATE: I ANGULAR DIMENSIONS +- 104

TITLE:

CUTTERBAR RH

7490962

REV:

B




	Sheet1
	Vue de mise en plan1


